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Before altempling the qUCS(iO“‘Paber. kindly check your
Question Booklet(QB) and O.M.R:-Answer Sheet and ensure
that: J

- Serial number of Question Bookl
Sheet is same.

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should

immediatcly report the matter to the]ﬁvigilator for replaccmcn(

of Question Booklet(QB) and OMR ‘Answer Sheet. No claim/
objection in this regard will be entertained after five minutes of
start of examination, candidate will be liable for the same.
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Read all instructions on the reverse of OMR Answer Sheet.
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On OMR Answer Sheet, use blue ball point pen only. Please,
fill your Roll No. and other information correctly in OMR
Answer Sheet. (@)
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If more than one response is marked for a question, it would be
treated as wrong answer. ¢ &5
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1/4 part of the mark(s) of each question will bc deducted for
cach wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question).
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Each question has five options/circles. First tou_r options/circles
(A), (B), (C) and (D) arc related 1o appropriate answer an'd
fifth option/circle *(E)’ is related to *Question not amcmp_t‘cd .

7. ufl T awiy % fg anadt #Y SN.OH.ST. IA-TE 9T Hafiq
ue wen % ugd ar fawed (A), (B), (C) W (D) ¥ d ¥aw us
et @ Al afe Qe T A T ET Al anadi fd gy

B B9 dem g 3

ct(QB) and OMR Answer

!J

'%’

%

1 I A 2o e & o aied fawer @ <(E) # e e amm
To indicatc the correct answer, the candidate has to fill in only
onc option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet. If
the candidate docs not want to answer any question then the
fifth option/circle *(E)’ should be darkened.
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1/3 part of the marks will be deducted for the questions, if none
of the option/circle are darkened.
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If a candidate leaves more than 10 percent questions or does

not darken any of the five options, he/she will be disqualified

for the exam.
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Candidate will be given 10 minutes extra to make sure, if he/

she has filled up any one option/circle for each questions.
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If there is any sort of ambiguity / mistake either of printing o
factual in nature in Hindi or English version of questions, th
the English Version will be treated as final.
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Use of Mobile Phone / Bluetooth Device or any other electronic
gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action
will be taken against him/her as per rules.
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Warning : If a candidate is found copying or using unfair means or

if any unauthorized material is found in hisher possession. FLR

will be lodged against himv/her in the Police Station and he/she would
be liable to be prosecuted under State Public Examination (Measures

for Preventions of Unfair Means in Recruitment) Act. 2022 a’i'g

Amendment Act 2023, The act has provisions of imprisonment 0" 1

years to life and finc up to T 1 crore. Board may also debar hi

permanently from all future examinations conducted by the
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Navneet told Preet, ‘Though I am the daughter of your

1 ister.” How i
. ther, you are not my Sis oW 1s Preet related
1 qidad L Navneet? =T
T vt @ > ‘mﬁﬁﬂ‘g'ﬁ (A) Sister ~(B)  Brother
T RN vt 1 i @ gl ©7 pr Cousin (D) Nephew
—A) :g_' (B) :r(ﬂf’" Question not attcmpted *
(©) WIg (D) hich of the following figures will complete the giv
(B) argufawx o | 2 WhCH trix? ‘ p given
2 mﬁammmmmmmﬂlﬂﬁﬁ' figure P2 .
? |l
SAEAL= B
L [Rops R
*) d ®) % (A) / (B) %
7 L ——
—] i
© | & N © | & © | ¥
- tion not attempted
(B) oTgaRawa / E) Q]ucsﬁ_ re which would continue the same series as
3 3 o e i o e e i 3 ﬁz}gﬁz“c» ke
AIOO[O] 2] AICIOKO)| 2
w |O ® | w | O ® ([
© Q o)
: (© O (D) O
E) 34 q .
4 %‘éﬂ‘aﬁﬂﬁﬁ e ¥t arrepier < ofEett 1 I v (E)  Question not attempted ) )
L_I . ; 4 Which of the following figures continue the given series?
Ll e .
@) -l ¢!
(A) (B)
© I,__I" © ] e
© |o (D)
(E) a?imw'ﬁama@ﬁwwﬁ@ﬁaﬁm L q
5 frefaRad Gadsl < 5 (E)  Question not attempted . iy will
ﬂwﬁxﬁ; Select the figure from the following options whic
: W complete the given series:
: Q
cj B> LAY,
Q c
(C
94
(B) 3‘3"“ ® Question not attempted
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preafrfiaa 1 & B HY ATHTT & 178 oy e
O ﬂ‘ma‘i’ﬁ? 6  Which of the following figures will complete the given
£ { figurc scrics?
A - _
O A 5
a Y O D
(1\) A (B) . \A‘ -
— (A) (B) A
A A ] a
\D /
~c7 B ©) A -
s op |/ O
(E) IaRa w - . _
E it not attempted
ﬁﬁ'ﬁf@aﬁ‘éﬂ?!ﬁmﬁw%? (E) Qucsju/o not attempte

7  Which of the following figure is the odd one out?

b
(a) () (e) (a) (b) (c) (d) (e)
—X) b (B)-'_‘gl (A) b LB d
c @) e © ¢ - D) ¢

(E) Question not attempted

8  Choose the odd onc out.

= | OCOE

(a) (b) (© . (d) (a) (b) () (d)
(A) a ®»D (4) a = (® b
(C) c ®) -d Eg c & d(D) d
fi - Question not attempte
i ¢ 9 Choose the correct mirror (M M) image of the figure(X)
9 a‘réétném(x)a?mﬂa&ww M') B 1 97 A
given below:
M < ‘
f M
y y Mirror
x) ™ =

(X) M’

(B)

N
C(C) \<' (D)« A ©) \<' (D)

z (E) Question not attempted
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K
©

(A)
n
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TR 39 faed )
(A)
(C) g
(E) rafa v
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(A) T § HiNE Frater 3 i H0 ared Jfeerd
(B) T H o] HieR 4 HAEH -
(C) T 3 gt &l § e dst.
(D) T 3 WEd At i e aE & w9 § FH H
(E) FaRawd N - S
TfRfer wete (2023-24) ¥ AT, TH A HFAH & TE,
T 2023-24 3 AT AT T T S A ST A 2:-
(A) T1,76,240 (B) 21,50,653
(C) 167,964 (D) % 1,79,080

(E) af@yd ”
uTd & war A A Frafe A e (Fr f @ aed suw

(A) ¥ —B) T=dfq
(C) (D) RT HAmhE

(E) rqafaua
W ¥ Tafd 1 92 T80 FA & 98 U2 Y 79y R Remmar

4
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o

(B) WEE
(D) AANR
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10 Which one of the following figures is the correct wae,

image of the given figure(X)?

—

(A)

©

(E)

(X)

(B)

K X
> o |

Question not attempted

Calcite deposits arc found in which place in Rajasthan?
(Choose the most appropriate option from below)

(A)
©
(E)

Sirohi (B) Bharatpur
Dholpur (D) Alwar
Question not attempted

12 The beneficiaries of the “Indira Gandhi Urban Credit Card

Scheme” are:

(A)
(B)
©)
(D)

(E)

Women working in corporate offices in Rajasthan
Blue-collared bank employees in Rajasthan

Street vendors in urban areas of Rajasthan

People working as house-help in urban areas of
Rajasthan

Question not attempted,

13 According to the Economic Review (2023-24), as per the

second advance estimates, the per capita income at current
prices for the year 2023-24is estimated to be:-

(A) %1,76,240 (B) 1,50,653
(©) T1,67,964 (D) T 1,79,080
(E) Question not attempted

14  Who appoints the Prime Minister of India? (Choose the

most appropriate option from below)

(A)
©)
(E)

Parliament (B) President
Lok Sabha (D) Citizens of India
Question not attempted

15 Who administers the oath of office to the President of India

before he enters office?

(A)
(©
(E)

Speaker (B) Vice President of India
Chief Justice of India (D) Prime Minister
Question not attempted

In whom is the executive power of State vested?

(A)
(B)
(©)
(D)
(E)

Home Minister

Chief Minister

Chief Justice of Supreme Court
Governor

Question not attempted

1 . . .
7 Which of the following is NOT an essential qualification/

(cxf)ldilion for appointment as a Governor?

(B)
©)

(D)

(E)

He should be a citizen of India.
He must have completed the age of 35 years.
He must not be a-member of either Hous¢ of
Parliament.
HC_ should be a domicile of the state to which
being appointed.

uestion not attempted

he is
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Who among the following was the first Chicf Scc;-c[ary ¢
0

Rajasthan? ) :
(A) Shri S.W. Shiveshkar (B) Shri K. Radhakrishy
(C) ShriV.Narayan (D) ShriB.G.Rao

(E)  Question not attempted

Which Constitutional Amendment Act facilitateq th
appointment of the same person as a Governor for twg :
morc states? e
(A) 4" (B) 6"

(C) S(h (D) 7Ih

(E) Question not attempted

Given below arc two statements:

Statement I: The Governor appoints only those persong as
ministers who arc recommended by the Chief Minister,
Statement II: Chief Minister allocates and reshuffles the
portfolios among ministers.

In the light of the above statements, choose the most
appropriate answer from the options given below:

(A) Both Statement I and Statement I are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct but Statement Il is incorrect
(D) Statement [ is incorrect but Statement II is correct
(E) Question not attempted

Who was the first spcaker of the Rajasthan Legislative

Assembly?

(A) Poonam Chand Vishnoi

(B) Ram Niwas Mirdha

(C) Ram Kishore Vyas-'

(D) Narottam Lal Joshi

(E) Question not attempted

Which of the following is not an organ in the human
digestive system? (Choose the most appropriate option
from below)

(A) Pharynx © (B) Esophagus

(C) Rectum (D) Trachea

(E) Question not attempted

Which of the following is NOT an infectious disease?
(Choose the most appropriate option from below)

(A) Typhoid (B) Cancer

(C) Tuberculosis (D) Cholera

(E) Question not attempted

The distribution of the biological potential of the land which
can ultimately lead to desert like condition is termed as:-
(Choose the most appropriate option from below)

(A) Climate change (B) Desertification

(C) Loss of land (D) Biological loss

(E) Question not attempted

Which of the following terms is used to explain the
undesirable change in the physical, chemical or biological
characteristics of natural environment?

(A) Epidemics (B) Pandemic
(C) Pollution (D) Quality
(E) Question not attempted

The “State Disaster Management Authority” is headed by:-
(Choose the most appropriate option from below)

(A) Governor ;

(B) Chief Secretary of the State

(C) Chief Minister

(D) Chief Justice of High Court

(E) Question not attempted
[ Contd...
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e name of the super cyclone that caused extrem,
1 and Odisha in May, 2020,

(B) Rita

(D) Fani

Identify th
damage to West Benga

(A) Amphan
(C) Katarina ,
Question not attempted.

The state associated with gas/chemical accident in 1984
was:-

(A) Rajasthan

(C) Madhya Pradesh
(E) Question not attempted

Who among the following is empowered to form a new state
by scparation of territory from any state? (Choosc the most
appropriate option from below)

(A) Prime Minister (B) Supreme Court

(C) Parliament (D) Chief Minister

(E) Question not attempted

The original Indian Constitution was handwritten in a
flowing italic style by:-

(A) Prem Bihari Narayan Raizada

(B) H.V.R. Iyengar

(C) B.N.Rao

(D) Dr.KM. Munshi

(E) Question not attempted

Who was the first President of India?

(A) Maulana Abul Kalam’Azad

(B) Dr. Rajendra Prasad

(C) Dr. Bhimrao AmbedKar

(D) Sardar Vallabh Bhai Patel

(E) Question not attcmptéd :

The Constituent Assembly held its first session meeting on:-
(A) November9, 1946 "(B) December 19, 1946
(C) December9, 1946 (D) November 19, 1946
(E) Question not attempted

Would the action in good faith provision be applicable ifa
PIO unknowingly declares exempted information? (Choose
the most appropriate option from below) '

(A) Yes, it applies to any.action of any official under the
‘RTI Act’ or any rule there under.

No, it will not be applicable.

Protection of the “action in good faith” is not
applicable to a PIO at all.

No, it only applics to refusal to give in information
under the ‘RTI Act, 2005.”

(E)  Question not attempted

'{ol’ﬁ: Aravalli mountain range is a part of which of the
; owing landmasses? (Choose the most appropriate option
rom below)

(A) Angaraland (B)

(C) ' Himalayan region . (D)

Question not attempted

(B) Uttar Pradesh
(D) Uttarakhand

(B)
©

(D)

Gondwana land
Purvanchals

:{V“ljlzlxilt]h one of the following acts as a water divide in
‘, . .
low) an? (Choose the most appropriate Option from
A .
EC; Hlmala¥ s (B) Western Ghats
(E) Arava! l (D) Eastern Ghats
QUCSIIOn not altCmpted
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ﬁmﬁﬁ%aﬁﬁmﬁéﬁqwmm 36 Which of tI]c fol'lowing statements is NOT Correct gy,
1 27 ... laterite soil in R?ZStTZZZ ™ 1 ut
ﬁ reel ﬁﬂ'iul ws:hw éﬁ?ﬂ%l (A) It}? f(’::‘if c()yr1tainslr¥cna()ulgl‘: a"g m:{tamo"Phns: rocks,
(A ggﬁ@ﬁmiﬁ;- mmqgfwmr‘ta%%t (B) :h;pl;oms Ny quantity of nitroge
HIT 7 Al |§@m .
’ég))r aﬁ%ﬁ M ¥ e ?RIT l 3 (C) Itlooks red duc to the presence of [ron.
(D) q’gfﬁ?‘ 3;!13’5, REENQ , Eii}ull T qT?WRﬁ (D) This soil is found in Dungarpur, central and southern
( 2 | part of Udaipur.
(E) ygﬁm ad = P (E) Qucstionfnc::] attc}r;nl;l):::,tli s -
et ; ‘YT AT sheqI&’ 7 Which one 0O c g rees 1S known as the
‘7 @a"\(ﬁﬁm% (B) > mm%‘? 3 ‘KalpvrikSha ofTharv? (B) B boo]
(A) D) G (A) Date Palm abool
©) T‘;ﬁa o (C) Neem (D) Khejadi
I ; ted
: > A9 E) Question not attemp ) .
g:)zrﬁﬂ pELS2IE ] & gl St , aﬂ:ﬁﬁ%‘) 38 gv;ich of the following is the highest peak of Rajasthan?
¥ ® IESEISH (B) HI3Z AT (A) Dilwara E[B); 1!\:10unt .‘}\lbu
TeRTET (D) ~drrTg C) Guru Shikhar ~ =° aragar
-’t’g be 9 o EE; Question not attempted oA I
3 S 7 e & The largest inland salt water lake of India is in Rajasthan.
y W # o7 ! ar ‘IFﬂ bl L Al Wl?ich gne of the following is it?
" pefatad jamamd@ier O Sambhar (B) Didwana
grga it (A) dra
(A L (B) % (C) Lunkaransar “ (D) Pachpa
FUTEHTUTET (D) ~.F=q<T E) Question not attempted e .
tg 3;\:;31’(69%{ 40 ﬁ\c)cording to the 2011 census, which district in Rajasthan is
¥ TSR T A a1 frer waifs the most literate?
@ 2011 Y SETVFAT < STER (B) Kota
(A) Jalore : -
T E? . ‘hunu (D) Sikar
R B) &I (C) Jhunjh .
(A o (D) e (E) Question not attempted National Highway No-8
JORREEN ( )7'7« 41 Under which project W‘;S_‘hct :mec N
E) Igdi@ %A =1 IR upgraded to 6 lanes from Jaipur o : y
N (%lr e 3 e T T Fer-8 S (A) North South Corridor (B) ~ East ﬁf;g‘a’;" °’
FmeHAT@FMT? A X (C) Golden Quadrilateral d(D)
A, ®) gga_ga?lﬁiﬂ (E) Question not attempted nteed under
@) i r"mmﬁ 42 In 2023-24, the number of worklpg days gua Scheme”
©) gﬁq?@ﬂa (D). ‘ the “Indira Gandhi Shahari Rojgar tGuararz;c:atc option
(E) qara s A AeAr ¥ aed were increased to: (Choose the most app
2202324 #, «3few M ang._(ﬁqﬁimaq'ﬂ?ﬁ (f,‘o)m 110 working days (73 (B) 123 working g:y:
fﬂl‘ﬁﬁmmﬁmm - (©) 140 working days (D) 160 working day:
faweq gﬁ) p 1 | i ot attempted . he
E) Question NOt & known as t
R L b LB)’J;S) 43 (Which of the followmg'brecds of cow Is
© 140 % feaa (D) 22 «Kamdhenu of Rajasthan’? B) Rathi
(E) ergaf@ = ﬁ;"mﬁmﬁ?'%m (A) Tharparkar , fm Malawi
. N Nagori
4 ﬁq%rﬁga“ 3 v <Y o T | Eg)) Qﬁiﬁon not attefnpte.d . etakenby the Rajasthan
ST ST 22 Lt 44 Whichofthe following is an initiat! e mpowcrmem‘?
A draTERt ,@“/ et Agriculture Department for women farme: e oS for
(©) (D) Lg provision of training mf,or;l :Vefc’:‘nolo gy to fellow
@ (E) ¢ T o ﬁﬂﬂr‘h ¥ gIfehentol ¥ fore dissemination of ﬂgf‘cu on
Fresferfas % & = 22 women fM“e‘rsl's purﬁuing agricultural edufcz!ﬂ;1 o
Wﬁﬁwm*’fﬂfw . & Jan ¥ ferg wfeet 2. Incentive to giF d mini-kits t0 women {2
nfee frael aF S renfirt 3. Distribution of se€ )
' = g4l ice farmers in 3P
m%{%ﬂgﬁ'{m mmﬁzﬁaﬁml pncv{sion of tractors 10 all women
2: ﬁmmaﬂi areft frft fare F fraon 4. Pro Paochiayst ofRajastl'mn. —
3. e e o B T e oo o st appropale option from
G S s oy
e () Boi Land 208 ST,
TF Ity HUAT g S (B) All1,2,3an o
ﬁqﬁﬁaaaqgﬁmg%g) fi 1,2, 3 34w (©) Bomf“:jiﬂﬁﬁﬁ"m
—~A)— sf o A Ed @l ¢ i 4 3T EE & (D) Bothl# t attempted Contd-
© 3amaddiwa® @ ! (E) Questionn° l
(E)  srgafea wa
AA sy
I #

C} Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

@ i rflor 45 Which of the following is @ premict instirut® Whil‘:h lmP:“'.tS
’/ﬁ":'fﬁfiaﬁ i i ? N e " training and undertakes rescarch on rural deve opment In
i o 4O & indi zbl
T wfirer e dar ndia’ et
(A) Wmﬂmw;mm:a’:maﬁ (A) National Rural Dc:vclof"“cnt Organisation
(B) 'T‘a?l . e (B) National Rural Institut€
) W amfion e r ~ wute of Development
(©)  unfim . (C) Rural Institutc . and
(D) ﬁ%r‘m s i 9 : der (D) National [nstitute of  Rural Developmen
(E) TS ey e ¢ panchayati Raj
46 H Niﬂﬁa ™ (E) Question not attcmpwd
¢ sjaen i apmen vz WA AR ) .
BZM, DXN, FVO, HTP. ? 46 Find the next term in the given serics:
(A) IRP Q BZM. DXN, FVO, HTP, ?
=R IR R
(©) 1QS () RIQ (A) JRP (g) iug
(E) rfa e ) (© Jos ed( )
(E) Question not attempt
®§w =1 573 Hif (@5@" @u@ /
QT. LO. SP. CF 47 Choose the ‘odd’ onc out: .
(A - QT, LO, SP, CF
) QT B) LO, @ o (8) LO
(© sp () CE
(E) ¥gafawd ' .
(E) Question not attempted ot
48 Frferfiaa et & g A A I F Skl & 48 Amongst the following pair of words, find the one which is
(A) Ta-ZH () -3 different from the others:
(C) g3 w-zsm (A) Cow-Milk B) Hen-Egg
(E) s - (C) Sheep-Wool (p) Bird-Fly
N -5 i t
[ 4 3 9 é T, T @ﬁfmaﬁ%ﬁmﬁlm (E) Question not attemp ed . .
=1 543 FfT | , 49 The numbers given below are alike in a certaint manner
(A) 57 ,_1%1‘14 except one. Choose the odd lo'ne out.
(C) 108 (D) 133 & 57 (B 114
(E) FAf@ 94 i (c) 108 (D) 133
(E) Question not attempted
50 agmmitﬁqsﬁsmeﬁwéﬁmﬁl 3 s s ey o 1
= s 50 Find the pair which is different from the other three.
() I By FGAHAA
. A) Camel-Tall (B) Turtle-Fast
(C) (D) &R-TEETEe . . . ; )
o ot © Tiger-Carnivore -(D) Bird-Chirp
(E) FAfE (E) Question not attempted
51 mmmm@mmﬁiﬁﬂﬁﬁﬁmﬂmﬁlm 51 The words given below are alike in some manner except
a1 A it : Te one, spot the odd one out.
(A) F (B) 3R (A) Banana (B) Fig
«© ﬁ (D) #Is] (C) Peach (D) Potato
(E) FAAia 94 - (E) Question not attempted
’?/ufzwﬁfaaazmﬁ’m BT DOorse | 52 Ifinacerain code : :
'@ &7 dge ™Y FBMP ; in code language, ‘PENTAGON’ is written as
i -BOUTIQUE’ @1 *NCSVPJ »feran sman 2, a3 DQSOFBMP’ and ‘BOUTIQUE is written as
gz urn - BEAUTIEY, 4y fora gm? NCSVPIDV", how would ‘BEAUTIFY” be written in the
QA 7 CDTBUHXG 2, (B?‘ DCBTHUGX same codc language?
©) J)CTBHUXG (0 CDTBHUXY X 22) CDTBUHXG (B) DCBTHUGX
() A 9d e forpy (E; gCTBHUXG (D) CDTBHUXY
. ’ . . uestion not -
g3 e faeh 7€ (F2) M #i ‘PRISON’ 1 Rgggoﬁlzﬁm 53 1Ifin e
e &, a1 34 F1€ (F2) iy "RACKS' § ferar . 1 a code language ‘PRISON’ is written as ‘RPKQQL’
TYEIU Y o ien how would ‘CRACKS' be written i !
‘/%YLI (B) Ll_(,i\SK l““gllngc? written in the same code
EPCAMQ (D) EPACQM .
(E) st 4 s, Eg)) g:gﬁlu (B) EPCASK
el (D) EPACQM
AAS1 | # % X % 8 Question not attempted
]
R [ Contd...
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St
faféra E (@) t‘f‘ ‘
4 ?1#?}5#3"*“‘“%@3@%, ARGENTINA (i
S (T T ENGINE' 9138 foey
@ 1= (B) 113
©) I1=#!? (D) #12=1y
(E) ST S
‘AMPLE’ &I ‘47" % &9 & fifeq

2 ¥ Hfed &) o som LIFY

A 113 (B) 75

© 8 (D82

® a;er 56
56 af¢ ‘RIPE’ 1 8295, ‘NATO' #t 6347 afiy ‘PANTHER" =Y

9364158 ST ®, | ‘PRINTER® &%

m] e o %q EF\TB T

2 5%22,%2 (B) - 8926458
© (D) . 9846
(E) Tgara S5

7 T T Y e o 2w, S s |

0wt 3 foar <t ot 71 O 6l & R & @ e
(A) THUE —(By—Tam Rl
© = (D) el

(E) Iuia

58 & A9 A FeT, I8 Tgh S Aefiiet Fer @ 2 3w 4 O
F w1 Ot 2, o raet w37 ot sk Al
ToH T G A 1 G 27 b ALy
, (B) &

% (D) - uelt :

() Hrgaf@wx ' -

() ometoms s, 2005° Sy S8 rae, e e
fafraw, 2002 1 Rerfa 7 &2 (e 3 @ w397 faehe | 59
)

(A P w fmrmn 21

(B) 3 & ¥z TN 3Hah qEd T ST, € AR & S

(C) ¥ TR T TR ) 30 AN F Hl T8 4 2l

(D) @ ¥R & 3 e & 7 AR it 2005°
R 2, 77 918 J1 Y G F 2

(E) 3rgafau=
RS safufam maﬁ?mmamaﬁaﬁ%mm%aﬁ
T = 82
(A) 9rI5(3) (B) HTI6(3) 60
() =R 7(5) (D) HTa8(l)
(E) rgafaws
o1 1 sifr sifufram, 2005 ifefafia o mr
(A) 225200sF  _(B): 22T 2005 = &1

(C) 2 3FagaT 2005 FI
o) (B) srgaf@ws

\ 62 Frafifaa i 4 frg cire 291 H1 TECHH “THar-die & &7 %

(D) 15 S 2005

w%? ‘ 62
(A) it
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In a certain code language, ‘ARGENTINA® is
By #215=1B", how would ‘ENGINE® it
code languagce?

(A) 172#="! (B)
(C) ?'=#!7 (D)
(E)  Quecstion not attcmpted

If ‘AMPLE’ is coded as ‘47" and ‘SAMPLE’ is coded
“66', then how will ‘AMPLIFY" be coded? “
A 113 ®) 75

(C) 83 (D) 82

(E) Question not attempted

If ‘RIPE’ is coded as 8295, ‘NATO’ is coded as 6347 ang
‘PANTHER is coded as 9364158, what will be the code for
‘PRINTER’?

(A) 9826458 = (B) 8926458

(C) 8924685 . (D) 9846285

(E) Question not attempted

; ten ag
be written i that

2M#=1?
#17=1#

Introducing a woman to‘his wife, Raj said, ‘Her mother is
the wife of my mother’s father’. What is the relation of Raj
with the woman’s father?

(A) Cousin (Paternal) (B) Grandson (Maternal
(C) Son (D) Nephew i
(E) Question not attempted

Surendra said to Ajay, “That girl playing badminton is the
grand-daughter of my mother’s father-in-law who had only
one son and no daughter.” How is the girl related to
Surendra?

(A) Sister (B) Daughter

(C) Nicce (D) Wife

(E) Question not attempted

After the enactment of the ‘RTI Act, 2005°, what is the
status of the ‘Freedom of Information Act, 2002’? (Choose
the most appropriate option from below)

(A) It has been repealed.

(B) It will become operative as soon as the Central
Government makes rules under it.

The Central Government has advised the State
Government to implement it.

It exists and to the extent the ‘RTI Act, 2005’
contradicts, it will supersede the latter.

Question not attempted

©
(D)

(E)
Which provision of the RTI Act explains about transfer of
applications?

(A) Section 5(3) (B) Section 6(3)

(C) Section 7(5) (D) Section 8(1)

(E) Question not attempted

The Right to Information Act, 2005 was enacted on:-

(A) 22 June 2005 (B) 22 July 2005

(C) 2 October 2005 (D) 15 June 2005

(E) Question not attempted

Which of the following folk deities is worshipped as
“Ramsa-Pir” by the muslims?

(A) Gogaji (B) Mallinathji

(C) Ramdevji (D) Devnarayanji

(E) Question not attempted

[ Contd...
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5 % womm St 7 ey -
(A) ®) AR
© w3 (D) _iearer &
(B) ryefaws =
66 Wﬁ&mw@mm‘wmﬁﬂ’w
A et Ry (B) it wmeR™
(©) e imaTais (D) =R TH
(E) Srgafaws s
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69

70

AAS1] #

LA e I I (B) S faFTt
(©) Sy (D) IAFIS FHEH
(B) ia s

HYH 3 Yamar ia i aeredt § S e Ry 22
(A) it wcmowh _(By—SomTaT

(C) Fard (D) @ vAmst
(E) Igaf@usn

A T FuA 3 Ig% Q& urond & 7 ¥ e A F

AR 9, Fofa & o6 A ot aron s 3 Pifea &728
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mwnq‘:
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(A) Faa @ ffkar

B Faa @ ffka?

() 133 ffkas

(D) Farismadnfafea?

(E) Frgeiawa

i fow e 1 H, O e % AR 1 3R 11 shwifena < aromd &

¢ &) e 3R Fraforfiaa aromei & smumw, fofr 3 fr ey

ot aroom fafea 2/

mz@wqﬁmﬁaﬁém%mmmm%mm

foof ferar 21 S
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Name the Khyal which is a beautiful fusion of contemporary
NEws, poctry, music, songs and dance.

(A) Hela Khyal “(B) Jaipuri Khyal

(C) KanhaiyaKhyal ~ “(D) Shekhawati Khyal

(E)  Question not attempted

Narnc the famous ‘Swaang® artist who has represented
Rajasthan in Bharat Utsav ?

(A) Janki Lal Bhand (B) Lachhiram

(C) Mangilal Mistri (D) Gopi Kishan Bhatt

(E)  Question not attempted

Shrilal Joshi, a phad artist belongs to :

(A) Sikar (B) Jaipur

(C) Churu (D) Bhilwara

(E) Question not attempted

Who among the following wrote the ‘Vamsha Bhaskar’, a
four volume history?

(A) Suryamal Mishran

(B) Kaviraj Shyamaldas

(C) Gobind Gangadhar Pandey

(D) Dashora Durlabh Rami.*

(E) Question not attempted

Name the author of ‘Annals and Antiquities of Rajasthan’.
(A) Col. James Tod (B) James Skinner

(C) James Prinsep (D) Alexander Cunningham
(E) Question not attempted

Which temple is situated at the foothills in Rewasa village
of Sikar? ¢

(A) Diggi Kalyanji (B) Jeenmata

(C) Kaila Devi (D) Khatu Shyamji

(E) Question not attempted

Below is a statement followed by two assumptions. Based
only on the statement, decide ‘which of the assumptions is/
are implicit in the statement.

Statement: When people ask who painted your home, you
know that your home is excellently painted.

Assumptions:
I People want you to tell them the criteria for excellent
painting. f

II.  People do not ask about your painter if the painting of
your home is not good.

(A) Only I is implicit

(B) Only II is implicit

(C) Both I and II are implicit

(D) Neither I nor Il is implicit

(E)  Question not attempted

In the question given below, a statement is followed by two

assumptions numbered I and I1. Based on the statement and

following assumptions, decide which of the assumptions is/

are implicit. 1.

Statement: A bus agency-has decided to increasc the

passenger fare by 10% after.the board meeting.

Assumptions: €0

I The demand for the séats will fall drastically.

I Other bus agencies will also hike their fares.

(A) OnlyIisimplicit *

(B)  Only II is implicit ’

(C) Both Iand I are implicit

(D) Neither I nor Il is implicit

(E) Question not attemptcd [ Contd...
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1 Beclow is a statement followed b sumpti
% 7 cd by two assumptions. Based
FUA: ﬁ?ﬂﬁ Xq’\'mwmqﬁ R only on the statement, decide which of the assumptions is/
JroTTe: \H" arc implicit in the statcment,
) I X “R@?Fﬁmmwgf%, Statement: I cannot usc intcrnet at location X.
s meﬂm?ﬁmmm Assumptions: o .
) 3 [ fifea 2 L. Internet facility is not available at
B 18 R location X. ‘ . .
( #act . [I.  These days the intcrnet is not working properly.
/(Q/I’:&ﬁ'( 11 3 fafea § (A) Only Iis implicit .
o) FAIAR IR (B) Only Il is implicit
(E) i 9 (C) Both I and Il are implicit
- (D) Neither I nor Il is implicit
;AT 3 34 a2 A 7k [ 31k R ¥ sy (E) Question not attempted
aﬂa(ﬂlﬁmﬁi%‘lﬁiéﬁlﬂﬁqqm%m A8 . -
w_ﬂ N & 72 Given below is one statement followed by two arguments [
aéa;m Aghl mmmmm@ and 1. You have to decide whether a particular argument is
: strong or not.
1. q?’ﬁ E| u?.'fm B S . Statement: Should every girl have sclf-defence training?
. &N 5EE 3 v forwg srutirit s gy Arguments:
F W AT e gt I. No. They will turn masculine.
FaaaF1 W% II. Yes. It would give them the confidence to counter
- 3 their perpetrators cffectively.
\/(B’ Bl ek (A) Only argument I is strong
C) 1311 3T "ot
(D) Tt & (B) Only argument II is strong
(D) T I ASEE R (C) BothIand II are strong
(E) IafauH (D) Neither I nor II is strong
7 AR A TEr AR A TE | 3?\'( 1R ek . (E) Question not attempted
T @ B A e ﬁwgmqﬁl 73 Given below is one statement followed by two arguments I
o A AT ¥ a3y ﬁFﬂ(q{ ﬁ EZT forr <t <1 and I1. You have to decide whether a particular argument is
Y e strong or not.
Statement: Should the ban on poaching tigers be lifted?
I. ETI mmm@é%‘ Arguments:
I & 9" e IHat & iR Sarl & forg waw & wad L. Yes. The poachers are losing their livelihood.
| ol II.  Yes. The tigers are dangerous animals and could be a
(A) Had qoh | AT ? &? threat to humans.
(B) ¥aaaE Il W% { (A) Only argument I is strong
© 13 ﬁmﬁ ¢ (B) Only argument Il is strong
m [T e 32 ".«';%. (C) Both I and Il are strong
(E) = i (D) Neither I nor Il is strong
3”“'{“ (E) Question not attempted
74 m@maﬂtﬁaﬁaﬁ'aﬂ‘"mmﬁ'“ﬁ 74  You are given a statement followed b
& : . a statement followed by two arguments [ and
1§ ferdry ok o @ RIEL] I1. Decide whether a particular argument is strong or not.
EOCH me & ferg Statement: Should the captaingof the footbal? tcam be
$eATet 219 F HEME o TH T fredt st Raenst it frgen replaced by a experienced player for the upcoming world
ﬁh‘m ST Fifee? cup series due in three ycars?
T Arguments:
L gnaémmamﬁqﬁ%qﬁaﬁaﬂrqﬁm%m@ L. Yes. The current captain is nearing retirement and a
TUFE F A Y SEE 2l new captain needs to be nurtured for future.
I o adur a1 A 93 SR qaraqe @ R) Il Yes. The current captain has a partisan attitude in the
@) 2 <1 2 team selection procedure.
S (A) Only argument I is strong
(B) e o [ WoTeq € 4 aong
© 130 11 2t o 5 22; gntll)" ?rgl;n;lcnt 1 :s strong
\-—-GB)’H'{ oth I and II are strong
A€ W% (D) Neither I nor Il is strong
N ) JrEia g (E) Question not attempted
A S1] # oy 11 [ Contd...
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In the following question, there are two statements (a) ang
(b) followed by two conclusions I and II. You haye to
consider the statements to bexrue even if they seem to pe at
variance from commonly known facts. You have to decid,
which of the given conclusions, if any, follow from the
given statements. '

Statement:
All who are punctual, succeed in life.

Sheetal has always respected time.

a.
b.
Conclusions:

L. Shectal is a successful person.
II.  Sheetal is an entrcprencur.
(A) Only conclusion I follows

(B) Only conclusion II follows
(C) Either I or Il follows

(D) BothIandII follow - .

(E) Question not attempted

In the question given below; there is a statement followed
by two conclusions I and II. Assume everything in the
statement to be true, then decide which of the conclusions
follow the statement beyond reasonable doubt.

Statement: The Chicf Minister of a statc asked three of his
ministers to cither submit their resignations by the evening
or face disciplinary action. Two of them resigned
immediately. {
Conclusions: ; |
I.  The remaining one wolild resign by the evening.

Il.  The Chief Minister will take disciplinary action
against him.

Only conclusion I follows

Only conclusion 11 foilo§v5

Either I or II follows =~

(D) Both I and II follow

(E)  Question not attempted

In this question, a statement is followed by a set of
conclusions. Carefully asséss) which of the conclusion(s)
logically follow(s) from the statement and choose the
correct option.

Statement: Kriti learns dance from the Hindustani Dance
Academy. She is a well mannered girl.

Conclusions:

I Besides the fact that shc learns dance, another trait of
Kriti is her nice behaviour With everyone.

People who learn dani}C are bound to be well behaved.
Both I and I follow -

Only I follows e

PN

(A)
(B)
©

I
(A)
(B)

(C) Neither I nor 11 follows
(D) Only I1 follows
(E)  Question not attempted
[ Contd...
N
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94 H, T FU F a1 iy
jafeme T, . Fanfafy |
| ) l H 1
78 ) mg:;;riwﬂmaﬁmm ot l% IR | 78 In the question given below, there is a statement fol|qy,
ﬂﬂﬂ!ﬁ o . Ezﬂliiaﬁ w9 q TW,W%I e by three courscs of action I, I1 and 111 Assuming chmh-Cd
A ) A ’ ; ) in
FUA: ﬂ%(; l%"|) RO RS ﬁ;q,g‘r 3 Wﬁm W given in the statement as true, decide which of the Suggcstci
ﬁ:«ﬁa@—'ﬁq e course of action logically follow(s).
aﬁ:} : Statement: There is a significant increase in lung related
St PR 1 3qan - i i i
) qrasifae the city due to 5.
7t ST ARy TN ::l::::i :)nr AZtio:- -
- ﬁ . A ) \
\y 31'{’4?"2 a;ﬁib“m * :ﬁft ﬁ Fﬂ%’d ﬂ"?ﬂ ST H’lf%q 3k I Public must be encouraged to usc public transport,
EBBT'(’n‘f'l?l:a.ml alaaig ““'aﬁ*ﬁ’mwmﬁ%m II.  Hospitals shou.ld be informed about the situation and
e % ) asked to remain prepared to handle large inflow of
n mwﬁmﬁ@tﬁ @f‘hﬁﬁ%aﬁéw%ngqﬁa patients.

W‘h%: ﬁtiiai?] T’llqaimlfl%al:i%m [II. A delegation of —health officials should visit the
o lsﬁtlllalim I 35(%% President of the country to intimate about the situation.
(©) a1 3N IO+ E (A) OnlyIand I follow (B) Only Iand Il follow
o i N (C) Only Il and IlI follow (D) Only II follows

(E) ﬁ:ﬁ“ﬁ“? N
79 A RETTIA A, T Fua & a2 & Branfafy | s 79
mﬁaﬂéaﬂmﬁmm&mﬁ%gmﬁiﬁ

(E) Question not attempted

In the question given below, there is a statement followed
by two courses of action [ and II. Assuming the information

LEEIEE dTfheh 9 & STTE T 8] given in the statement asvtrue, decide which of the suggested
U At ﬁmﬁaﬁ aie q}%’“ Attt #t sIgd wfafea course(s) of action logically follow(s).

fraferarrera 3 deta ‘GI'IT?IB & T e 9 f?"aﬂ'- Statement: If the retired senior police officers are invited to
i‘gﬂ?gﬂ?; fere s forar s ?, @t 7 Jr igd deliberate on security arrangements during the convocation

ceremony of a very reputed university, it would really be of

HIATS & ltoh: i
£ m%mggfﬁqﬁ[ﬁﬁgﬁﬁ I f:r(:urses':).f Action:
IL %mﬁﬁmﬁw;ﬁmm L. The management shf)uld.scck pcrmissi.on of -the
A Y iR e Ry L professors of the' university before calling retired

(A) e [ T HETR ‘.'. police personnels.

mumm% 3 1. The proctoral team should involve experienced
© Frariaril :ngamm% people in beefing up the security of the university.
(D) 130 11 3T a1 & (A) Only I follows (B) Only II follows

(E) Nﬂﬂﬁﬂg’}f s (C) Eitherlorll follows. (D) Both I and II follow
80 FrfRgad@wdt 3“3‘;% ﬁsr()()aiﬂﬁﬁ{ﬂ'm ? (E) Question not attempted

80 Which of the following figures will complete the pattern in
figure(X)?
?
(X)
(X)

(A) N

(A) (B)
()
&) (C) (D)
E 3133118 A (E) Question not attempted
i 13 | Contd...
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82

85

87

89

90

AASL] # gg

]

Waﬁ’ 81
m%mmﬁmﬁﬁzma”g'ﬁ °
sl it e foar T ofea
(A) A A’”j@%@m
(C) amuraeeiefen (D) 2 -
E) ammfd
( ). Hﬂaﬁm P gied-2024 el
armﬁa%mnm(ﬁnﬁimaﬂ'ﬂgﬁﬁa‘”
(A) g (B) FIL
(C) - wenit (D)L
(E) Wﬂﬁﬁaw 3 fa 83
T WIfR-2024 IATE W ATy AT G T
wnq;ﬁwam’rﬁaﬁmm Fer M8
. B)
(C) = (D) T
(E) oy 84
ﬁq%fhaﬁéaﬂqmﬁmwm%,wm@’m
2oosaﬂt2017ﬁmﬁ€rﬁuwﬁﬁzmﬁ“§am%?
(A) T~ e (B) W.TH. aHt
(©)— frareh T (D) TESiaHN
(E) aRawd :
S T 3 e 33 3 R s ¥ fag et | 85
Tt Ry HATeT ER A € 2 T o TR?
(A) o= $ugy
(B) & Tl 9t g JieET
(C) SR T e AT
(D) diuw sft FET
(E) SIuita g4
Hiwart S & AN
(A) Faa s afEdasame g
(B) ¥ad TEER qiad diar 8
(C) T ariifaes i T & TarEf aRady gar e
(D) ifires wd arafies AT aiEdE B 8
(E) rgafaud P
éaaj;‘?aﬁqmmt%mmmi‘,mﬁ%:- 87
(A) (B) 91
(C) JmaTaad ad (D) TATA
(E) Figufa s '
frafafaa § @ 97 91 THRIE T3S F1 e 87
(A) COj (B) SiOy 88
(C) CrO3 (D) PbO
(E) Jrgafay=
3fz frdt aeq & fufd s ot 21, O Iuer e adur
it Ay v . R
(A) HiFd gl & A
(B) @& AT
(C) 3IHAW
(D) =dur & ya SR wiEE & =
(B) vrgaf@ua
ag A& St Fy it T it aifirortn € wn R, wwem | g
&-
(A) FEfaEed (B)  Irowrelt weqor
(c) STt T (D) I w9
(E) FFr@ A

14
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In which stadium of India was the statue of the great cricke

player Sachin Tendulkar un\(g;ilcd?
(A) Eden Garden -(B) Wankhede Stadium

(C) Arun Jaitley Stadium’ (D) Narendra Modi Stadium,

(E) Question not attempted

Where was the Rising Rajasthan Global Investment
Summit-2024 organised? (Choosc the most appropriate
option from below) )

(A) . Jodhpur (B) U('ialpur

(C) Jaisalmer (D) Jaipur

(E) Question not attempted

« Gagan Shakti-2024 ” excrcise was conducted by the
Indian Air Force at which place of Rajasthan?

(A) Jodhpur (B) Pokhran

(C) Alwar (D) Barmer

(E) Question not attempted

Who among the following is the only Indian skipper, men or
women, to have led India to two world cup cricket finals in
2005 and 2017? :

(A) Yuvraj Singh (B) M.S. Dhoni

(C) Mithali Raj (D) Harmanpreet Kaur

(E) Question not attempted

Which scheme was launched by Ministry of Women and
Child Development to promote gender equality and increase
sex ratio? T

(A) Mission Indradhanush

(B) Beti Bachao Beti Padhao Yojana

(C) Pradhan Mantri Garib Kalyan Yojana

(D) PM Shree Yojana = ¢

(E) Question not attempted

During the burning of a candle:-

(A) Only physical change occurs

(B) Only chemical change occurs

(C) Neither physical nor chemical change occurs
(D) Both physical and chemical changes occur
(E) Question not attempted

The elements which tend to form anions by gaining electrons
are known as:-

(A) Metals (B) Non-metals

(C) Malleable elements /(D) Ductile elements

(E) Question not attempted

Which of the following is an example of amphoteric oxide?
(A) co, “(B) Si0;

(C) Cro, (D) PbO

(E)  Question not attempted

If the position of an object is at infinity, its image formed by
a convex mirror will be:- '

(A) At the focus behind the mirror

(B) At the pole of the mirror

(©)  Atinfinity C

(D) Between the pole and the focus of the mirror

(E)  Question not attempted.

The character which does not express itself in F; generation

is called:-
(A) Allelomorph (B) Recessive character

(C) Dominant character (D) Genotype
(E)  Question not attempted
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91 In the question given below, there is a statement followed ‘

St # & I A T wg g S % qem g , _
. e e T g MG 4] by two courses of action I and II. Assuming everythin
% Ejﬁ?x 3 ﬁﬂﬁ e J iy et given in the statement as true, decide which of the Suggcstcﬁ
< %H’ﬁ’g %22 L course (s) of action logically follow(s). )
& ”g N ) % Statement: There was a significant rise in head ini
L. AR S%’H b gqf%m AR T related deaths among two wheeler riders. it
ST ST 97t
Tl ey RRLar Courses of Action: j
q'@qtmﬁqt g ”%H"mq'(‘llﬁiiu I The traffic police should i heft
Il ; X Su o . ¢ tr should impose hefty fines f
(A) I TR Far R ST SR | wearing helmet while riding two wheeler. or net
(B) HIAT I 0N FA7 ; II.  Two wheelers should be banned on main roads,
ACy AN AT T SATETT oy & (A) Only I follows (B) Only II follows
(D) 1 3 11 3T Srgeror e & (C) Either Tor I follows (D) Both I and II follow
(E) 3 At v (E) Question not attempted
CRER R | RURERISET IS 92  Find the missing term in the given series:
289,262, 235, 7, 181, 154, 127 289, 262, 235, 2, 181, 154,127
58 58? (B) 207 4 (a) 200 (B) 207
—(D) 208 © (D) 208
(E) Mgﬁﬁﬁ s (E) Question not attempted
93 AT mﬁ@%miﬁﬁq 93 Find the missing term in the given series:
/{71,‘%3,56, 112,224 -4 R Y 7, 14,2, 56, 112,224
. 28 B) 129 (A) 28 ~(B) 29
©) 31 ED)) 35 12 (© 31 (D) 35
(E) 31131’{?{ q4q 02 (E) Question not attcmpted
04 AT gl'@(.ﬂﬁ T 92 T4 Hifv: ) 94 Find the wrong term in the given series:
11,22, 44, 88, 110, 352 - 235 11,22, 44, 88, 110, 352
2 A) 44
it oS i © 1o © 8
(E) IIgaid g% ped 'TY (E) Question not attempted
gi@mﬁ T WWW . 95 Find the next term in the series:
12, 12, 18, 36, 90, ? 12, 12, 18, 36, 90, ?
(A) 2 (B) ©270 025 (A) 280 (B) 270
C) 29 -7 (D) =300 (C) 290 (D) 300
o) av Y ) (E) Question not attcmpted
96 g 9,1@\%1 T IATAT US 1A hifSIT: [ ) 96 l]"ir;d ;hel ge;ts te:;r;n in the given series:
(]/’x‘)t, 9,6;6’ S e 29 = @A) 6 (B 49
1S, 7 (©a8l 4/, 17 (D) “48 Zb% © 81 (D) 48
3 (E)—?m sy (E) Question not attempted
97 frefoRag & & F17 G198 91 TS @ § Sq ST S [ 97 Which of the following term follows the trend in the given
¥ o) series?
ﬁ § Z,XW, TSR, NMLK, ? (e é Z,XW, TSR, NMLK, ?
(A} EDCBA % ~BCEDF (A) EDCBA (B) BCEDF
(C) EFDCB EDCB (C) EFDCB (D) FEDCB
15 (E) Iyquf@ux '—_ J\é (E) Question not attempted
Pers)] ﬁ° e §Id ; 98 Find the missing term in the scrics:
MFSV, OJYD, ?, SRKT, Uv(%l)a A 1 &l;svégg‘o. 7, SRKT, UV(?;; -
(O _onEL (D) ..QMFO / (C) QNEL - (D) QMFO
(E) STgatta v ‘ (E) Question not attempted
% e # 3nrern Wﬂﬁiﬁﬁﬁ : (* | 99  Find the next term in the series:
PH, ME, JB, GY, ? i PH, ME, JB, GY, ?
7> VA (B) - CV (A) DV - (B CV
() Dpw (D) ~AZ (C) DW (D) AZ
(E) Question not attempted 3
100 What should come next in the given scries?
e BEAUTIFUL, BEAUTIFU, EAUTIFU, EAUTIF, ?
(A) AUTIF (B) UTAIF
(C) EAUTI (D) TAFIU
(E) Question not attempted
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